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1. GENERAL STUDIES

1. Whose birthday was celebrated as
National Unity day ?
(A) Jawaharlal Nehru
(B) Indira Gandhi
(C) Sardar Vallabhbhai Patel
(D) Mahatma Gandhi
Ans- C
Match List - I with List - IT and select the
correct answer.using codes given below :
List - I List - IT
(a) Cement (i) Sodium salt of
higher fatty acids
Carbon black
Sodium oxide,

(b) Glass (ii)

(c) Ink (iii)
calcium oxide and
silica

(d) Soap (iv) Aluminates and

silicates of

calcium

(@) ) ( (@

A) Gv) G G 6

® @) G) @) () \Q

© () @) @) @) O

D) (v) (i) (i) g

Ans- A

How many AfggMColtries have taken
part in Indo—A@mmit ?

(A) 44

(B) 54

(C) 64
(D) None of these

Ans — D

2 (e

1. 9HEH A9

T Ul feaw fFas o= feaw & s
T3 HATT T ?
(A) SEEEE EE
(B) 3fgwm mitt
(C) HER FeavuE Jed
(D) =@re Mt
SR — C

AT - 11 g - 11§ gafaa 53 98 W
=1 #re #1 " | Fafa #itad -
gt -1 Tt - 10

(a) wHz I qHE FEl &
Hifgqn Fam

(b) HF (i) HET wAE
Ficaam FwEe

@

(iv) Hfewaq &
e @
fafearsz

@ (®) () (@
(A) G(v) () (D) ()
(B) ) @) (@ @)
© O @) (i) (iv)
D) () @) (i) (1)

IR — A

YA AWIH G § fhat siwist <o A
yr faan ?

(A) 44

(B) 54

(C) 64

(D) =7 | K T

3aRk — D



Ans — D

How many industries are included i V
- 'Core’ Sector ? Q

In the fort of which of the following
places Akbar had built the Jangiri
Mahal ?

(A) Delhi

(B) Agra

(C) Allahabad
(D) Lahore

Ans — B

Article 20 of Constitution of India consists
which of the following ?

(A) Protection from ex post facto law
(B) Protection from double jeopardy
(C) Protection from self-incrimination

(D) All of above

(A) 6
(B)

(<€)
None of tho. O

Ans —

O

As per
distric, hi

(A) K
(B Puducheri, Pondicheri

st growth rate :

Kume, Arunachal

(C) Dantewara, Chhattisgarh
(D) Naravanpur, Chhattlsgarh

@nqus 2011) which 7.

Freafafas 4 |4 fre we % fes § award
ST HEe FAaTE o1 ?

(A) fewslt

(B) ¥mT

(C) FoeEg
(D) @R

Ans — B

WA iy & sg=ee 20 § fr=fea § |
1 Hitsfea § 7

(A) =i fafy 4 Heem

fFa s 'R & F e § 7

(A) 6

(B) 7

© 8

(D) ¥ & % 7
Ans — C

2011 ¥ ST F STUR W FEiew gis
TR AT foen W ?
(A) FETFH, sTEOTE
(B) YER, Wit
(C) <dare, B
(D) MY, FHETE

Ans - A

Ans — A



10.

11.

Who of the following was the founder of
Pushtimarga, a Bhakti Philosophy ?
(A) Ramanujacharya
(B) Ramanandacharya
(C) Nimbarkacharya
(D) Vallabhacharya
Ans — D

Which of the following famous novels
was written by Govardhanram Tripathi
in Gujarati ?

(A) Saraswati Chandra

(B) Samaj

(C) Devi Choudharani

(D) Bharat - Darshan

Ans — A

After the fall of the Vakatakas who of the
following founded the Kingdo
Kadamba in the coastal strip of n
Karnataka ?

(A) Yashovarman
(B) Mayursharman
(©) lshanvarg\anQ
(D) Bhaskar

Ans — B

Whichx‘fo owing sculpture arts was
developedhh the valleys of -the Krishna

and the Godavari during ancient
period ?

(A) Gandhara Art

(B) Amravati Art

(C) Pallava Art

(D) Chalukya Art

Ans — B

8.

¢

11.

uF wufga el - gfean &1 grams
frafafaa § 4 # @1?

(A) TETETETE

(B) mTETET

(C) Frearsi=m

(D) aEayTEE

Ans — D

Tt # frefataa | | #ma viag 3w
s et & gra feran T ar?

(A) ST 9%
(B)
et

I - 9
ns — A
AEEH ® Ya1 & v Frefatas § 9
fare 3 FATeF F Tgacd T2 ° we
T T 91 &l ?

(A) FTEH

(B) WA

(C) Forefq

(D) wTEEFTEHA

Ans — B

YT &l § FOm SR ierEd fedi w it
H fefafaa 9 | 39 yfdfaes wen =1 fawm
gl ?

(A) TER FHal

(B) wEdl el
(C) Yeord wenl

(D) =IIF e
Ans — B



12. In which article of the constitution of  12. ¥Rd™ Wfawm & f&w sg=2e A =fas

India, the Judicial review is based ? AfddtET seifE &2
(A) Article 19 (A) 3IT=8% 19
(B) Article 20 (B) &T=%T 20
(C) Article 21 () =T 21
(D) Article 22 (D) &HT=T 22
Ans — C Ans — C
13. India covers how much Land and 13. fava ¥ wra =t $a fFadt d9wa § iR

Population of the world : A Fo foat saeEn famE 22
(A) 2.42% - 17.5% (A) 2.42%"NT.5%
(B) 3.3%-20% (B) -0 %
(C) 23% -18% - 18%
(D) None of the above * K%Tﬂ q 2 77

Ans — A \A:s - A

# | fom ad § vfag FEm-am
TEI g 912

14. In which of the following years th
famous Congress - League Pac s
concluded ?

(A) 1914 Q (A) 1914

(B) 1915 . (B) 1915

©) 1916 @ © 1916
(D) 191_7® (D) 1917

Ans — C Ans — C
15. Vegetation of Sunderban is : 15. G=@T &I Teafd el ¢
(A) Mansoon type (A) WA
(B) Temperate evergreen (B) ¥itare HI@EER
(C) Tropical evergreen (C) IwrHfea=ita HereER
(D) Mangrove type (D) YA YFR I

Ans — D Ans — D



16. When huge amount of sewage is dumped

into a river, the BOD will :

A)
(B)
(©
(D)

Decreases
Increases
Slightly decreases

Remain unchanged

Ans — B

17. What is Karakoram ?

(A)
(B)
©
(D)
Ans — A

Mountain
Plain
Place

None of the above

18. Banded Tit discovered in Arunachal

Pradesh is a species of which of the

following ?

(A)
(B)
©
(D)

Wild buffalo

Hill Mynah
Butterfly OQ

L 4

Fish
Ans — C

19. What are the i@ of Broad Money

(M;) in India ?

(A)
(B)
©
(D)

Currency with the Public
Demand deposits with banks
Time deposits with banks

All the above

Ans — D

16.

7%

vra & H sty A ¥ wes siel S §
9 I9H1 BOD

(A) FH 8 R
(B) F@SEIZI
(C) Fo =982l
(D) Fwwifaa w&ar g1
Ans — B
FRIHH F1 8 ?
(A) vad

(B) Hem

(© =H

(D) &

Al —

18, 0T 33 2 sreTere viw Wit 7 et # @
wenfa €2

O

19.

(A) et ¥g
(B) et &M
(C) forereft
(D) wae
Ans — C

WRA ¥ SN q7T (M,) FT g9F 18 ?

(A) S F I HE
(B) i ® =i S
(C) =i H graius s
(D) 39 el

Ans — D



20.

21.

23.

India gets rain due to :

(A) North West Monsoon

(B) South West Monsoon

(C) North South Monsoon

(D) East West Monsoon

Ans — B

Which of the following Kingdoms was
first conquered by Allauddin Khilji as
Sultan during his southward campaign ?
(A) Devgiri

(B) Warangal

(C) Dwarsamudra

(D) Malabar

Ans — A
22.

Maximum Contribution of O, in
atmosphere is from :

(A) Herbs and Shrubs

(B) Phytoplanktons

(C) Grass land

(D) Dense forests

Ans — B

What is correct about Solicitor Gen
(a) Itis a constitutional po%
(b) Itis alegal post

(c) He assists the Ati egneral of

India
(d)y He is a dvisor of

Presiden& ia
(e) He is a ChieMfegal advisor of Govt.

of India
(A) (a), (b)
(B) (o), (d)
(€) f(e) ()
(D) (b), (c)

Ans — D

20.

21.

22.

23.

WRd § 99l {6 qa+i | 26l &7

(A) W ufy=Ed qEgA

(B) afaro wfvmm ArEH

(C) 3 zfeor A

(D) & = A

Ans — B

goar ¥ €9 F srenege faerst g a
zfaoit sfiqam ¥ frefafas o @59 a =
vem fafsa foran man?

(A) Zafrd
(B) AR@
(C) TEgz
(D) WHemER
Ans — A

FraTELol P

1l
(A) { gt
FEIERA

o F #e
o ST

ns — B

[ifateet 9 & faug J§ 98 # 8?2

() & TF "Hauiiw 9 ¥

(b) ¥ UF AufE 92 2

(c) F& RA F HRAMHAR] FI GEad &3l
7

(d) % YA F Tyl w1 q@ At
TeARFR & |

() dF% WRA FIFW *F1 W&d a0
HARFER & |

(A) (). (b)

(B) (o) (d)

© ()@

(D) () ()

, F1 i um el

Ans — D



24,

25,

Consider the following statements :

(2) Ionic compounds are soluble in
water.

(b) Covalent compounds ionize in
water.

(c) Coordination compounds on
ionization give all constituent ions.

Among following statements which is

frue ?

(A) Statement (a) and (b) are correct,
statement (c) is wrong.

(B) Statement (a) and (c) are correct,
statement (b) is wrong.

(C) Statement (b) and (c) are wrong,
statement (a) is correct.

(D) All statements (a), (b) and (c) are
correct.

Ans — C

Who of the following was the founder o
Paramhansa Sabha, the first ref
organization of Maharashtra in

(A) Vishnushastri Chiplun
(B) Dadoba Pandura
(C) Ganesh Vasudey
(D) Gopal Gan r

Ans — B
26.

Minamata disease in Japan was caused
by pollution of water by :

(A) Mercury

(B) Lead

(C) Cyanide

(D) Methyl isocyanate
Ans — A

24.

26.

et sl R faam Fifed -
(a) @l difre wa § fada 2 2

(b) wEEdrsT difrw wa § st ad €

(c) TI=E T HFE ATEH AFAFA AT
[t sragEt aEa 3@ €
et HoEl § FE-TER 77

(A) ®¥F (a) Td (b) WE §, FUA (c) e
£

(B) A (a) 74T (c) WEl &, FuA (b) e
2l

(© b)NE (c) TEd €, FUA (a) e

(D FIT (a), (b) 3R (c) T 21

o
@. ¥ freafafaa § | fFem Tenmg & yam

YR H71EH, THEH YT HT TG H1 41 ?

(A) Taoremedt faaeeE
(B) TN Yigh wWESH
(C) T TS St
(D) TiaTe IO SPREF
Ans — B

Sy ¥ e I wa # s ygao |
g a7

(A) T

(B)

(C) WETES

(D) Tfys smEEEEAE

Ans — A



27. Smog is a common pollutant in places
having : '
(A) High temperature
(B) Low temperature
(C) Excessive SO, in the air
(D) Excessive ammonia in the air

Ans — C

28. What growth rate is expected in Indian
Economy by Vice-Chairman of NITI
Aayog for the year 2015 - 16 ?
(A) 7.6 percent
(B) Over 8 percent
(C) 7.7 percent
(D) 7.4 percent

Ans — B

29. The cooling system of motorcar radiator
is based on principle of :
(A) Conduction
(B) Convection
(C) Radiation
(D) Conduction and Radiation

Ans — B
30. Which is not included in criti

of National Highway A of

India ? ¢

(A) Developer will ium after
the 4t ye encement

of road p¥#§
(B) If a road pr¥ject does not start

within two years of signing the
agreement, would be deemed as
terminated.

(C) Contractors will have to maintain
roads for four years.

(D) None of these.

Ans — B

27.

28.

29.

‘A
)y Hagd
Q ) fafemm

30.

o

(A) a9y Al g &)

(B) AI95.d FW BT ¥

(C) a1 SO, #i Al Al At 21
(D) @ ¥ i w1\ A g 2
Ans — C

Fifa SATET F WAL F F T4 2015-16 F
feru wda sdearn § fFas sfaee #1
afis-afe gt FqaifTa & T 7?2

(A) 7.6 wfavE

(B) 8 wfav@ § I

(C) 7.7 wfavd

(D) 74
Ans — B

%1 Yitde 29%H fagr
a3

(D) w=rEd e fafewwor

Ans — B

A % TS 2Rd AGIE F fhlewa gun
H fordl wnfae & foren 22

(A) TeF %™ F SN 99 uiEe
YR 21 % 4 99 81 & aie afiam &1
A |

(B) 7fE TeF RENH FIR H T 21
% g a4 & WiaX I e foman s at
aaz s fF FR e @ o

(C) o%er %149 & fee Heshi =1 90wq
FHET A |
(D) 78 | F1E 72 |

Ans — B




31.

32.

33.

Who of the following was the Viceroy of

India at the time of the Simla Conference

of 1945 ?
(A) Lord Irwin
(B)
(©)

(D)
Ans — C

Lord Linlithgowe
Lord Wavell

Lord Mountbatten

Who amongst the following has been
given to host the final matches of 2015
F.ILH. Hockey World League ?

(A) Raipur
(B) Ranchi
(C) Dehradun

(D)
Ans — A

é\
In which of the foQ
as a state head has never been elected ?

Delhi

Ing country woman

Pakistan

(A)

(B) Shri Lanka

(C) Bangladesh

(D) Bhutan

Ans — D

31.

32.

1945 ¥ fauen 99 & 999 fr=faraa o
¥ FM YRG F AEETE 912

(A) @rg 3fdA
(B) wrg femfaem
(C) «rE a3
(D) @€ HETaA

Ans — C

. fava &+t @ % sifaw
fedafFradme?

2015,

L 4

O

33.

(B) ut
(C) <&uEd
(D) fee=it

Ans — A

= ° | frm 2w 51 oieay s afgen
TN E?

(A) uifFEE
(B) diciat
(C) =FaRw

(D) %
Ans — D



35. Mission Indradhanush is associated  35. ®&% 32Ty fud Fafua &2

with :
(A) Self employment (A) =IO
(B) Higher education (B) Z=a famn
(C) Vaccination (C) =
(D) Housing (D) HEs
Ans — C Ans — C
36. Match List - I with List- Il and select the ~ 36. ¥t - 1 %1 Jeit - 11 & ifea fre=r #rg 51
correct answer by using codes given wEEa | wifod UE WEl I Guia Fifa
below :
List - I List - 11 -1 T -1
(@) Vitamin (i) Pepsin (a) faafma (i) T
(b) Enzyme (i) Carotene (b) wwv@ (i) Fm
(¢) Harmone (iii) Keratin (c) (iii) fwifes
(d) Protein  (iv) Progesterone (d) @ (iv) W=
(@ () () (d) * (®) () (d)
(A) ) @ @) (v) 8) () @) ()

Ans — B

(B) @) @ (v) () @ @ (Gv) (i)

© @) O ) () O © @) @ Gu) (v)

O @ (@) @v) (i) (D) () (D) (iv) (i)
Q Ans — B

%)



37. Arrange the following radiations as per ~ 37. ™= fafetoil 1 9% g & Hed F9 A

decreasing order of their frequency : afeem Fifad :
(a) Radio waves (a) Yfea 7
(b) X-rays (b) CRCTU
(¢) Micro wave (c) [
(d) Ultraviolet rays (d) AT feRel
(A) c>b>d>a (A) c>b>d>a
(B) a>c>d>b (B) a>c>d>b
(C) b>d>c>a (C) b>d>c>a
(D) d>b>a>c (D) d>b>a>c¢
Ans — C Ans — C
38. What is correct about ordinance  38. HRd F 3 ART A HI Wi
promulgated by President of India ? % faw §?
(@) It can be promulgated when . (a) % g9 " A8 A ag S fE
Kbl

house of Parliament is not in session. S o s gFa 21
7Q a9E el faan s /el

Parliament is not in session.
(b) It can be promulgated when one ® W4 HOE 1 UF FeA g9 0 A IS
(©)

(c) It can’t be withdrawn.

(d) By an ordinance fu (d) e gr Aifas afus 1 Fefaa
rights can also be sus feran <1 Hewal |

(e) Ordinance can’t be ged in () —HEE H HEARW F T AR W
the court that@ower to At 7 & o et T wemen W
promulgatAN{th&Brdinance is FTH F1 WG F1 AFGHEIO STE
exercised e. faan T 21

(f)  On the any part of the constitution () dfayE & fadt off 9m W SRy
ordinance can be promulgated. SR fen <11 Wl R

(A) (@) () (9 (A) @) (@) ()

(B) (d), (), () (B) (@) (e),

(©) (a), (b), (e) (©) (a) (®). (e)

(D) (), (d), () (D) (0. (d), (B
Ans — C Ans — C



39. Shaikh Bahauddin Zakariya was 39. V@ a@i@aei s faetferad § 4 fag
associated with which of the following gl foafed § =g 472 :
Sufi Silsilah?
(A) Chishti (A) fawdt
(B) Suhrawardi (B) HeUadl
(C) Qadiri (C) wmifedt
(D) Qalandari (D) magd
Ans — B Ans — B
40. What was Montreal protocol concerned ~ 40. Tifzaa Widiwia fFud waf+q 272
with ?
(A) Checking global warming (A) Afes < 1
(B) Checking ozone layer depletion (B) G Rica
(C) Checking global warming and ¢) Td HAEE 96 A9T
ozone layer depletion \Mﬁ =1
(D) Checking global warming, ozone FOTE1, AN WG HaHT F
layer depletion and protecting T qun Safafayd &1 g ||
biodiversity Ans — B
Ans — B
41. Objective of launching A T 41. U= I90% '53‘(3 THFRE A= AR
satellite is to do the rese ich of g o2 vy fo s &2
the following ?
(A) Astronom Q (A) @ fagm
(B) Weather (B) #rEm
(C) Oceanography (C) =gt fagm
(D) All the above (D) iR @t
Ans — A Ans — A



42. Aqueous solution of sodium carbonate is - 42. Hifea HEre 1 S faeem aid Fehid
alkaline in nature because sodium w@m%ﬁ%@fgﬂqaﬂsﬁﬁzmm%

carbonate undergoes :

(A) Electrolysis (A) Sga for=ved
(B) ecomposition (B) foerem
(C) Tonization (C) ST
(D) Hydrolysis (D) S ATEHIA
Ans — D Se® — D

43. Oceanic energy is produced at : 43. WrRd STt &2
(A) Musli Pattanam (A) Z
(B) Vishakapatnam . (B‘Q’WEW{Z‘T‘*
(C) Medipattnam C) Were™
(D) Kulshekharpattnam O (D) FALELILLTH
Ans — D Se® — D

iament was e w1 el 1 g [EXIP

finally the powers

affected ? Q
Sajjan S&J

44. In which decision o?éug.e Court 44, wdtea = & o ot 3 aifm &9 9

(A) s. Rajasthan State (A) TS THE S TSRAr T
(B) Keshavanand Bharti Vs. Kerala (B) FHIETTE Al S W T
State
(C) Golaknath Vs. Punjab State (©) HIGERICECEICREIC R
(D) AXK. Gopalan Vs. Madras State (D) . T S A
Ans — B “

Iaxk — B



45.

Which is unmatched of the following ?

(@)

All executive actions of Govt. of
India shall be expressed to be taken
in the name of President.

If the President so requires to submit
for the consideration of council of
Ministers any matter on which a
decision has been taken by a
minister but which has not been
considered by council of Ministers.

Prime Minister will communicate to
the President all the decision of
Council of Ministers relating to the
administration.

The President shall make rules for
the more convenient transaction of
business of Govt. of India for th
allocation among ministers

said business.

h such
to the

Prime Minister Will

O

45. freifra o 9 oo gafaa @& § 2

(a) RT THR I THE FAUTTH FRAR -
Tegufa & A W w1 gE HE S |

(b) foet fawa =1 58 w fod 7=h A
fafee=r fopan € formg mfrafiog 7 fomm
T foRa § Tgufa g erden fR S
R Af=afe o qHe 39 fowg &l @

ST |

(c) ®¥
() ! GHfad HT|

*

) UUfd YRE TLRR H1 At
gfauree fhu S & forg ofw af==i
A 3% & & HAEFed & fau fom

ERICSIN

(e) WHM W, JuEA ¥ FHifed Sl TR

Teafa HiT, =@ 2|

FATT & IIMHT gE
& gt fafrv=g gum 7=0,



46. Rice is a crop of season : 46. oM (I@d) HiHF 9 FEA 8 ?
(A) Rabi (A) I
(B) Kharif (B) wO%
(C) Zaid (C) “mEg
(D) None of the above (D) ¥ ¥ HIg TRl
Ans — B IRk — B
47. During the reign of which of the following ~ 47. freferfed & ¥ foFg aeeme & w99 gd
Emperors the Mughal Art of Painting IEEETGIRCRE| TRrER W) agH ?
reached its zenith ?
(A) Humayun (A @
(B) Akbar ’\(B)‘:%w
(C) Jahangir O@) SRR
(D) Shahjahan (D) wIESTEl
Ans — C Q IR — C
. O e
48. In which of the follovgd ™€ of India  48. WRd & frfafed ¥ & fea vsa # fay =t
the Indus Valley Cigi€a site Lothal a1 1 WM wied g 22
is situated ? \
(A) Punjab (A) U
(B) Rajasthan (B) USTERAM
(C) Haryana (C) @femm
(D) Guijarat (D) TSd
Ans — D IRk — D



49.  Who won the Nobel Prize 2014 in

literature ?

(A) Herta Muller

(B) Patrick Modiano
(C) Alice Munro

(D) Orhan Pamuk

Ans — B

50.  Who won the Abel Prize 2015 ?

(A) Manjul Bhargava
(B) John Milner
(C) Michael Artin

(D) John Nash N
Ans — D

51. Upanishads areql
(A) Ved \

(B) Puran

(C) Vedant

(D) None of the above

Ans — C

HASTID Udereh gIeimr-2015

>

n

S

49. af 2014 %1 gifkea = el qrEEn @
firem ?
(A) B2 AR
(B) fem wifEar

(C) U g
(D) m@;
Ik — B
50° aéggl“ﬁagw"%émpn?
Q\(X) LRt
(B) w11 firemt
(C) wrFet e

(D) = =
Sax — D

51. 3Iufee foey s @ oft s sman 2
(A) 92
(B) 3
(C) AT
(D) 39t o wrd

Saxk — C



52.

53.

54.

55.

Mahashweta Devi got which of the
following award ?

(A) Sahitya Academy Award
(B) Jnanpith Award
(C) Pagma Vvibhushan

(D) All of above
Ans — D

WTA ranking is associated with

(A) Men's Tennis

(B) Women's Tennis

(C) Both Men and Women's Tennis

(D) None of above
Ans — B

Subroto Cup is related to which of the

52.  wRwAQ) ¥l F PG [EER TG FAT ¢

(A) gy e
(B) I

(C) wen fanpyor
(D) 3utEa @t

Sk — D
53. geeg A, Hoen grafG @
(A) 7o 2w &

(B) wfgen 2fra |
(C) =i yey 2Fr @

(D) CR R
.

54, Oga?% e @ w2 ?

following game ? .

(A) Hockey Q*) ¥ @

(B) Chess O B) YRS &

(C) Football é (C) Fearet &

(D) Cricket (D) fFdhe |
Ans — C o Q SRk — C

Which of these are certgi use 55. faferfta o & @ seragaw @1 Ffea
water oollution ? F R ?

(A) Coralreefs \Q (A) wiEts

(B) Sodium ch?o%"e (B) |ifsam Femse
(C) Arsenic (C) =

(D) All of the above (D) IWrEa wvi

Ans — C Sk — C



56.  Which of the following Statement are
true about GSLVD-6 ?

(i) Is a communication satellite

(i) Launched with indigenous
cryogenics

(iii) 1t is launched from Satishdhavan
space centre

(A) (i) and (i)
(B) (ii) and (iii)
(C) (i) and (iii)
(D) (i), (ii) and (iii)
Ans — B
57.  Which of these are associated with
“Minamata Disease” ?

(A) Arsenic

56. sft.uE. e 9.6 & g HEAE F
whR?
(i) 9% §9w I B
(i) 7% vz (3fefme) e awfis
T wAfa 2
(i) T FAgET WY Fz ¥ vafm
™R
(A) (1)@= (ii)
(B) (i) = (iii)
(C) (i) < (iii)
(D) (i), (i)

Sk — B

57. wﬁa% ¢

X

(B) Cadmium Fefimm

(C) Lead O (C) &=

(D) Mercury (D) wrgll
Ans — D Sk — D



58.  Which is the second highest Civilian
Award in India ?
(A) Padma Vibhushan
(B) Padma Bhushan
(C) Padma Shri

(D) Bharat Hatna
Ans — A

59.  Who wirote “Silappatikaram” ?
(A) llango Adigal
(B) Tirutalkatebar
(C) Thiruvalluvar

(D) Narsinh Mehta
Ans — A
60. “Hotspot” used in Cricket is

(A) Ultraviolet Imaging System
(B) Blue Light Imaging System
(C) Red Light Imaging System

(D) Infrared Imaging System
Ans — D

61. Common Wealith Game20181&
to be held in *
(A) Canada %
(B) Australia Q
(C) Newzeala&
(D) England
Ans — B

59.

i@ @ 380 gad w31 fafafamm geen
R 7

(A) wga fonpan

(B) W FU

(C) wem At

(D) Wi T

Ik — A
“feremrde’” Read g foran i 7
(A) e srfora

(B) Treaeamasrn

+ (C) freaeqg
(D) #féz

Sk — A
60. &a—e@. e
=

61.

L 4

) @Tegadee gt fiem

) = wge sAfom fewen

) te @rge wfm few
(D) wwiz mfsm fien
Sk — D

i Fou B@ 2018 FEl wRfrE Bvfi ?

(A) F=mer d
(B) sm=feran

(C) gsfere &
(D) ¥z |

Sk — B



62.

63.

64.

Vaman Rao Lakhe is popularly

known name as
(A) Lokpriya
(B) Janpriya
(C) Panditji

(D) Loknayak
Ans — A

Name the Maratha Commander who
invaded on Ratanpur.

(A) Bhaskar Pant

(B) Raghuji

(C) Mahipat Rao

(D) Bimbaji Bhonsale
Ans — A

What is the ‘Dhanlaxmi Scheme’ |
this state ?

(A) Employment for
(B) Grant for

() To increas%

child

(D) Employment grant
Ans — C

62.

63.

O

4.

I TE 9 39 AW afeg 4

(n) S

(B) sis=

(C) et

(D) A
IRk — A

AR W AGHEIY FH a1 72T JAfd
F1 AW 91

(A) SRR

(B)

2 (cgﬁ@m

)’ﬁwrsﬂxﬁa'é
a2

T TS 1 gaeed) dreer a7

(A) Trra wfkenet ¥ e Ry
(B) R =i & ford srgem
(C) ==n fory s # gfe

(D) TR g2

Saxk — C



65.  Which of the following country is

highest importer of diamond ?
(A) Belgium

(B) wanaoa

{C) india

(D} China

Ans — C

6

67.

6. Which Bastar ruler was defeated by
Kalwri ruler Jajlladeo | ?

(A} Annamden
(B) Vilastung
(C} Someshwar

(D) None of these
Ans — C

Whicn or ne following is Min
Support Price for cormmo

this state in 2013-14 2 O
L 2

(A) T1.310

(B) 1,345

(C) ¥1,285

D) 1,410

Ans — A

65.  freferfiga # & #rar 2w S w wad W=y
SEEFA € 7

(A) Afesm
(B) e
(C) e

(D)

Saxk — C

66. el ¥ITEF Aefectad 990 3 F6q0 =+ Ty
IITee =i T R o 7

(A)

67. %W U H gWFA UH =g wwed
I78 =9 2013-14 8 ot

(A) T1,310
(B) T 1,345
(C) T 1,285

(D) T 1,410

SaR — A



68.

69.

70.

71.

aNufer ferdeis

In the present Budget session of State

Legislative Assembly of this state which

of the following is announced ?

(A) Opening a Deemed University at
Durg

(B) Opening of State University at
Durg

(C) Opening of a Private University at
Durg

(D) Opening of IIIT at Durg

Ans — B

Who among the following is credited for
“Small pox Vaccination” ?

(A) Joseph Lister

(B) Edward Jenner

(C) Alexander Fleming

(D) None of the above

Ans — B

Jame Watson and Francis Crick have

2 O

In which year Gandl ighed this state

in connection% ancipation of
"harijans” ? \

(A) 1920

(B) 1922

(C) 1930

(D) 1933

Ans — D

discovered :

(A) Heart Transpiant
(B) DNA structure
(C) Pencillin

D) Aspri
(D) sprin N

O

68.

69.

71.

g31411-2015

H W & IaqH doie T H fAEifed § &=
EYOT T TS 2

(A) Tt o o Ee favafaeme @er #i
B) i H v Toa fvafaemer der

F1
(C) T ue frsit favafaamera @ier &t

(D) i o o1d. o1, o1, &, Wier &t
Sk — B

fafafaa § 9 6k == Jeeu’’ &
fore g feon e 22

(A)

(B)

‘S’ 3ER & Ay H ST A 39 6T 5
form ad = &t 2

(A) 1920
(B) 1922
(C) 193V
(D) 1933

Sak — D



72.

73.

74.

75.

Which gas is not a green-house gas ? 7o A = 7 Bfiae e 1@ 2

(A) Carbon dioxi " (A) TS STEATHIEE
(B) Nitrogen (B) IS
(C) Methane (Q) e
(D) Ozone i (D) 3isH

Ans — B Tk — B
Match the following indices for this 73, 38 W9 % 701 gl & #ed 3foa way
state : Siifed -
(a) HDI (Human Development (a) I ferehrd gk @) 0.127

Indicator) (i 0.127
(b) Standard of Living (i) 0.49
Index (i) 0.49

(¢) Education Index (i) 0.358 (iil) 0.358
(d) Health Index (iv) 0.526 (iv) 0.526
(A) (a)-(0), (b)-(i), ()-(iii), (d)-(iv) 0 » (b)-(i), (c)-(iti), (d)-(iv)
(BY  (a)-(iti), (b)-(), (c)-(iv), (d)-(ii) o a)-(iii), (b)-(1), (€)-(iv), (d)-(ii)
Q) (@)-), B)-(0) ()-(iv), (d)-(iii) \(Q (@)-(i), (b)-(1), (c)-(iv), (d)-(iii)
(D) (@)-(iv), (b)-(iii), (¢)-ii), (d)-(3) Q(D) ()-(iv), (b)-(iid), ()-(i1), (d)-(3)
Ans — B O Sk — B
Theory of Big Bang was propose@ fom-si fagia =1 frem wqa e ?
(A) Galileo Galilei (A) Tifafera ffeef
(B) Georges Lemaltre Q (B) it ferdy
(C) E. Torricelli O (@] g, 2fidett
(D) E. Fermi @ (D) = W

Ans — B Sk — B :
J. Robert Op&almer is related with 75 . e T 1 AW A H | e e
which of the following invention ? & fora srar st 5
(A) Radium (A) Ifemw
(B) Neutron (B) A
(C) Penicilin (C) ufrEfes
(D) Atomic bomb (D) A =

Ans — D IRk — D



76.

77.

78.

79.

Which of the following pyramids is 76, f¥=ifea fvifirgw # & & faufie et g
inverted pyramid ? 3?7
(A) Grassland’s-pyramid of number (A) =¥ F HeW w1 g & ffee
(B) Grassland’s-pyramid of biomass (B) =M % HEM w1 srEmE F fuwfie
(C) Grassland’s-pyramid of energy (C) =M % HIW &I el o1 e
(D) Tank’s-pyramid of biomass (D) dTETE & SEETE 6 e
Ans — D IR — D
Match the various Committees 77. SR O R fed fafs sminfeai s gafaa
Constituted on Panchayati Raj. T |
(a) Balwant Rai Mehta (i) 1985 (a) ITET T W (i) 1985
(b) V.T.Krishnammachari (i) 1977 (b) &2 w:wam (i) 1977
(c) Ashok Mehta (iii) 1957 ( (iii) 1957
(d) G.V.K. Rao (iv) 1960 ( (iv) 1960
() (@)-(i), (0)-(if), (©)-(iv), (d)-G) ( ), (0)-(ii), (©)-(v), (d)-)
(B)  (a)-(iv), (b)-(iii), (c)-(ii), (d)-() @ vy, ®)-Gii), (©-Gi), @)-0)
Q) (@)-(i), (b)-(ii), (c)-(i), (d)-(iv) * (Q7 @), (b)), (O)-(i), (d)-(v)
(D) (a)-(ii), (b)-(iv), (c)-(i), (d)-(3) %\:) (a)-(iid), (b)-(iv), (¢)-(ii), (d)-()
Ans — D O -D
Who was known as the ”fat% 78. ‘' faga nifaet FSFE FHE?
electrodynamics” ?
(A) Volta Q (A) deet
(B)  Sir Isaac Newtony O (B) ¥R 3¢Sk =2
(C) Andre Marie A (©) g A9 IR
(D) None of t (D) 39U | | FIE @l
Ans — C Ik — C
‘Charlier Hebdo’ 1s a Sattirilal Weekly 79, ‘=ifciaR 3o@l’ Ush 4TIcHeS QTG Iiah
Magazine of : ?:
(A) France (A) I I
(B) Britain (B) foreT =
(C) Australia (C) afreeforan &t
(D)  America (D) oTHfER Wi
Ans — A IR — A



80.

81.

82.

83.

Name the discoverer of “Anesthesia” :
(A) Lord Rutherford
(B) Roentgen
(C) William Morton
(D) Hans Berger
Ans — C

On the basis of earthquake intensity
(modified mercalli intensity scale) this
state belongs to which of the following

zone ?

(A) Less intensity zone

(B) Medium intensity zone
(C) More intensity zone

(D) Maximum intensity zone

Ans — B

Who of the following was the first
‘Acharya’ of Kabirpanth in this state ?

XN

‘Tawaharlal N@tional Urban

Renewal Mission’ s launched on :

A) Dharmadas

(

(B) Muktamani

(C) Sudarshannam
(

D) Kewalnam

(A) 2nd October 2005
(B) 3 December 2005
(C) 2nd October 2006
(D) 14t November 2007

Ans — B

80.

81.

83.

freas (T8T0T) & oNfashRes 1 M ¢
(A) T TIHE

(B) WS

() foferam ArA

(D) BER

Sk — C

ThU el (Senfaa wreil daar Sum
TR) % YR R 39 T Fi {6y 3f=al ¥ @i
TR ?

(A) 9 e,
(B) T

si=d
siad
(C) EISIEEE]
(D) { &R
+B

Tog B ey & g9 A=H frefafad
9 ?

(A) ™
(B) {0l
(© T
(D) FaTA™
Sk — B

ECIGGIGIEIENE GG ICER e Rt NES
&1 Qe g3 of ¢

(A) 2 3RS 2005
(B) 3 fe@w=it 2005
(C) 2 31 2006

SIEGIREISIRE ]

(D) 14 TawX 2007

Ik — B



84.  Which harmone is first discovered ? 84.  f&w THI® = @i qawYR B2

(A) pepsin (A) A

(B) somatotropin (B) wrErzfus

(C) secretin (C) wHimifen

(D) melanin (D) #enf4
Ans — A IR — A

85.  Pollution by plumbum is mainly through ~ 85. &% Wi | wiam ¥ wguv o 4w g

the medium of : 22

(A) Air (A) &

(B) Water (B) urt

(C) Land (C) 3

(D) Burning of coal e 8

Ans — A IR

86. Which of the following, can’t be removed  gg* 4 A Rl gug v 98 | v T
from the office by Parliament. W :
(i) Judges of Supreme Court % aled A & A
(i) Judges of High Court O (i) =9 TEEE F A
(i) Attorney General (iii) HETEETE

(iv) Controller and Auditor g
(v) Lt Governor of D(zlhi

(iv) Fra=s v meem vl
(v) feeet #1 I

(vi) Chief Election Copaihi er (vi) W& 999 T
(A) (i), (i) (A) (i), (i)

(B) (i), (iv) (B) (i), (iv)

(C) (i), (v) Q) (i), 'v)

(D) (iv), (vi) (D) (iv), (vi)

Ans — C Ik — C



87.

88.

89.

90.

Who proposed that all plants are made
of cells ?
(A) James Chadwick
(B) Matthias Schleiden
(C) Euclid
(D) None of the above
Ans — B
Municipal Governance in India has been
in existence since 1687 and the first
municipal corporation was :
(A) Bombay
(B) Madras
(C) Calcutta
(D) Delhi
Ans — B
The 73" and 74" Amendments do not
apply to which state ?
(A) Uttarakhand
(B) Mizoram Q
(C) Assam . O
(D) Himachal @
Ans — B Q
Which state has& ational Award in

the ‘Renewable Energy’ segment ?
\A) Madhya Pradesh

(B) Chhattisgarh

(C) Jharkhand

(D) Uttarakhand

Ans — B

87.

88.

O

90.

Tl G Rt o B § R T
g0 gfquifea foam e ?

(A) ST wefasw

(B) wferamd veited
(© IAfFTS

(D) W H | HI5 T8
Ik — B

mfafaue wER 9Rd ¥ 1687 | W@ #R
TeEl FTTIe HRANTH o :

(C) ey
(D) fewm=a
Ik — B

‘e el & TR T A TN R
AT ® ?

(A) THYRY
(B) TS
(C) wrEs
(D) SWES

3k — B



91.

92.

93.

94.

In India Crude Oil (Petroleum) was first ~ 91.

discovered from which of the following
place ?

(A) Bombay High
(B) Digboi

(C) Sanand

(D) Naharkatia

Ans — B

Itai-Itai disease is caused by : 92.

(A) Mercury
(B) Lead
(C) Cadmium

(D) Arsenic
Ans — C

L 4

The most ground water polluting 93

fertilizers are :
(A) Nitrate fertilisers

(B) Ammonical fertilisers

Amide fertilisers ¢ O :

(C) Potassic fertilisers
(D)
Ans —

Which state ha um number of 94,
SEZs (Special ic Zone) ?

(A) Karnataka
(B) Maharashtra
(C) Tamil Nadu
(D)

Ans — D

Unified Andhra Pradesh

O

yRa ® e 9o (VSIfera) i @t qayed
frefafea 7 @ e wm | 2

(A) o9 &%

®) fear

(C) ¥

(D) &Il
Sk — B

Faré- e A7 HT HRH
(A) WG

(B) s

©

(D)

il H Y-S g A s
2

A) B IH
(B) THIfHE T
(C) e 3w
(D) THRE JeATH
IR — A

mmﬁw@ﬁwsm(ﬁ?maﬁm
&) 82

(A) HARE
(B) HERTS
(C) dfmerg,
(D) TehiHd Y Yo

Sak — D



95.

96.

The causative organism ot swine flu is :

(A) Bacteria

(BY Virus

(C) Protozoa

(D) Fungus
Ans — B

Which among the following states has
been conferred with the Krishi Karman

Award 2013-14 for
production ?

(A) West Bengal
(BY Bihar

(C) Jharkhand
(D) Chhattisgarh

record

Ans — D

R
&
-

rice

95.

96.

T ] 1 SArary ¥
(A) =T

(B) aE

(C) wrsian

(D) W

Saxk — B

i 3 e T F 9w I § e
= ¥ fea 2013-14 1 9 Fdv g
fam w2

(A) ufvam FmE
(B) ferem
(©)

(D
N

>



97.

98.

99.

100

Which is known as blood cancer ? 97. T 9 fHQ FEd g2

(A) Lymphomma (A)  ferrmmn
(B) Leukemia (B) gHfwm
(©) Myeloma (C) 3T
(D) Sarcoma (D) H R
Ans — B Ik — B

Which of the following was the centre of ~ gg,  JTHI1 &Il H g6 T3 &1 (4% WeHld 1 Fg

mixed culture of this state in ancient frfafea & &= a?
times ?

(A) Malhar (A) WHwER

(B) Pacharahi (B) @

(C) Sirpur (C

(D) Maheshpur (D
Ans — C

.
Match the following : 9 :
(1)  Abhishek Verma(a) Squash @) aifyter i (a) THA
2

(2) Saurav Ghoshal (b) Wrestling O ) Ry =T (b) FHEar

(3) Bajrang (0) Archery@ (3) aS (c) TETsT

(4) Khushbir Kaur (d) 2 (4) TIER &R (d) 20 fa. . I
(A) 1), 2-(a), 3-<b),.4-<d80 (&) 1-(0), 7-(a), 3-(b), 4-(d)

(B) 1-(0), 2:(0), 3-(a), 44 (B) 1-b), 2-(0), (@), 4-(d)

Q) 1), 2-(bl 3 (©) 1-(a), 2-(b), 3-(c), 4-(d)

(D) 1-(b), 2—(3\' Y4-(c) (D) 1-(b), 2-(a), 3-(d), 4-(¢)
Ans — A IR — A

Operation Neptune spear is related to : 100 ST ef‘ﬁg"'{ TR qrefyd €
(A) Osama-bin-Laden (A)  STEHT-foA-ameA

(B) Muammar Kaddafi (B) TIER HEHI

(C) Saddam Hussein (C) dEH g

(D) El-Jawahiri (D) &1 SATed

Ans — A IR — A



101

102

103

Which of the following is unmatched 101 e § 9§ # w o % ary gafaa T 2

with others ?

(i)  To protect sovereignty unity and (i) v %1 TEUSd ThAT AR YT
integrity of India EaRGIEaC]!

I EIRED e A U
(iii) To safeguard public property (iii) @It wEfd Eakstil
(iv) To abjure violence (iv) a8 Qe
(v) TIReIel SO Y S T

(1) To promote Public Health

(v) To preserve the rich heritage

(vi) To renounce practices derogatory (vi) ferar & T & faeg garet 1 @
to the dignity of women ST

(vii) Improvement of environment (vii) O] &0

(A) (D) (vi) (A) @)

(B) (i), (vii) (B) i)

© ), V) ( 7 (v)

(D) (iii), (v) * o (D)™ Tiii), (v)

Ans — B _ x'\r - B

In the 29t Suraj Kund International Craft | EF T A HTR WAl H

Mela - “The theme state” this year is ; ‘offy T TE AN R

(A) Madhya Pradesh (A) AR

(B) Himachal Pradesh OQ (B) fermaa gew

(C) Arunachal Prades (C) oTEUEd U

(D) Noneoftheao@ (D) I H 9§ HIE TR

Ans — D SR — D

Which of the f wing line passes 153 ¥ & TR WFT /A | @ T A
through the northern part of this state ? ?7?

(A) Equator (A)  YHE @

(B) Tropic of Capricorn (B) HHT @I

(C) Tropic of Cancer (@) Feh @l

(D) None of the above (D) 39 ¥ | HIE Tl

Ans — C -C

]



104 Who of the following was the pioneer in
the field of women emancipation in
India ?
(A) Raja Rammohan Roy
(B) Ishwar Chandra Vidyasagar
(C) Mahadev Govind Ranade
(D) Sunderlal Sharma
Ans — A
105 Founder of Homeopathy :
(A) F. Banting
(B) Gregor Mendel
(C) Henry Mosely
(D) Samuel Hahnemann
Ans — D
106  The “Ozone layer” was discovered by :
(A) John Napier
(B) Benjamin Franklin
(C) Charles Fabry and Henri Buisson
(D) None of the above
Ans — C
107 Name the discoverer of “Logarithigé”
(A) John Napier Q
(B) Micheal Faraday O
(C) Max Plank
(D) None of the e
Ans — A

108 He started his& as a labourer in Tata 108

Steel. Later on became Chief Minister of
a state. Name the person :

(A) Raghubar Das

(B) Jeetan Ram Manjhi

(C) Pawan Kumar Chamling

(D) None of the above

Qs

104 9G¥ Afgen o™ & ax § f=fafad 7 9
HIF AT FA Gt 9 2

(A) TS THHIE T
(B) Ivav== faamearR
(C) WewRd Tfa= T
(D) g=are i
Sak — A

105 mﬁﬁ%w%
(A) TH. Sfém
(B) IR Aved
(C) &
(D)
Sk

106 " " 1 @IS fEga T et ?

o (A I

V)’ =i et

C) = Wt Ud A S
I B FIE ART

Saxk — C

107 ”m” bl aﬁm% H

(A) i AfR
(B) TEHA HUS
(C) W8 @ik
(D) 3I90E H | &g A
IRk — A
IR STt folt &1 yee 2 ©id §
HTGL o ©4 H i | o1 H Th T & Jeads
T4 - 3G I H A TAEd |
(A) T
(B) it 1w gt
(C) & FHR =T
(D) W H 9 wrE T

Iak — A



109  What is correct ?
While submitting the nomination form for
the election of three tier Panchayati Raj
system :

(i)  Candidate contesting the election of
Zila/Janpad Panchayat submits an
affidavit.

(i) Candidate contesting the election of
Zila/Janpad Panchayat submits a
self - signed declaration.

(iliy Candidate contesting the election of
Sarpanch/panch submits an

affidavit.

(iv) Candidate contesting the election of
Sarpanch/panch submits a self -
signed declaration.

(v) Candidate contesting the election of
sarpanch submits a self - signed
declaration.

(vi) Every candidate contesting the
election of Zila/Janpad/Sarpanch/
Panch submits ar affidavit.

“vii) No
declaration form or affidavi

requirement to subiy

candidate contesting the el8g

Panch. N

(viii) Every candidate -Sat g the
election of Zila/ rpanch/
Panch subwlits = signed

declarati
(A) (), (i), (vi)
(B) (i), (iv), (viii)
() (@), (v), (vii)
(D) (i), (iv), (v)

Ans — C

109 W& FME?
et qemadt TS SFan § A AR
T3 FEA HLA T

() TS/ S dETEd g e el
srvzrefl Uk TueT T A B |

(i) foreT/ SR dEEA A e arel
311efl Uk T~ FRAA SO O T
FI T

(iii) G/ TT HT A A aren AvHef
T YT T H

(iv) EXOE/9E HL A TSt aren e

V)

L 2
¥t/ ST T /R /o
T 9 yeds el UE qugus
I L |

(vii) 99 1 FAE TR A Al I w@-
BT SO T AT YT T FA
I ETIHT Tl Bl |

(viii) T/ Srog dame /e /99 6 g
ag e yaAE sl T -
TEAEITA ST O W Sl ¥ |

(A) (@), (i), (vi)
(B)  (ii), (iv), (viii)
© @) (v) (vii)
(D) (i), (i), (v)

Sark — C



110

111

112

113

autob
(A)
(B)
(©
(D)

‘The Substance and the Shadow’ is the

iography of :
Amitabh Bachchan
Manoj Kumar

Raj Kapoor

Dilip Kumar

Ans — D

An example of explosive fertilizer is :

(A)
(B)
(©)

(D)
Ans —

Which of the following is a floating

Ammonium Chloride
Ammonium sulphate
Ammonium Nitrate

None of above
C

National Park ?

(A)
(B)
(©)
(D)
Ans —

Who

Keibul Lamjao
Kalesar
Keoladeo

S
>

Kudremukh

selection ?

Ans —

Carl Linnaeus
RS, Lall
Charles Darwin

None of the above

c

descr 1be®them y of Natural

110

111

113

‘T geHeH e T YS! AT © ¢

AfHaTy == i
TS FHR

(A)
(B)
(©
(D)

TS HPR T
feefta FuR =

Sark — D

forepiees 3eltar 1 SeEL © ¢

(A) HIFE FAES
(B) Hehe
© g
(D) [ TS AL

YTfaeh =01 1 fHETd (theory of Natural
selection) T 01 fohe fohar ?

(A) e fafrg
(B) 3RTH. @A
(C) =red eRfad

(D) WIS | | HIE @l

Sax — C



114

Tikka Disease is associated with : 114 ‘fegm T wrafea
(A) Wheat crop (A) TE ®EA 9

(B) Tobacco crop (B) drTE wEA H
(C)  Ground nut crop (C) TTRe wEA |
(D) Sugarcane crop (D) T FEA |

Ans — C Jex — C

115 During the reign of which of the following 115 frefafad o 9 fordeh sramehe 9 1% srHieE
Guru Ghasidas founded ‘Satnam’ sect in AT Y WA 9Y T LA Hi 2
this state ?

(A) Pandus (A) dIvg
(B) Sharabhpuriyas (B) I
(C) Kalchuris

(©)
(D) Marathas %
Ans — D ¢ SR
L 4
116 Father of ECG is : %\ECG F I ¥
(A) Berger O A) TSR

(
(B) Einthoven (B) eTmEeiad
(C) Salton (C) Heed
(D) Carmack . OQ (D)  ShILHTH
Ans — B Sk — B
117 Recently, wh tifuted a new 117 @ & H e TH T ToHIGE < ‘7H'
Political Part "'Hindustani Awam fegeart eramm A=t 1 7eq fHa g 2
Morcha ?
(A) Upendra Kushwaha (A) U= FHYETE
(B) Jeetan Ram Manjhi (B) Sfrad T wred
(C) Yogendra Yadav (C) ANz a=a
(D) Narendra Singh (D) s fag

Ans — B Sk — B



118 Shivalik mountain is also known as :

(A) Upper Himalayas
(B) Middle Himalayas
(C) Lesser Himalayas
(D) None of the above

Ans — D

119 Saba Anjum -

Why she is in news ?
(A) For Yash Bharti Samman
(B) Appointed Hockey Coach
(C) For Padma Shri
(D) None of the above

Ans — C

120  LEISA is related :

(A) Organic farming

L 4

(B) In organic farming
(C) Natural farming OQ

(D) All of them

118  fyranferes wea f=1 o fov =m0 @ ST1 Smn
??

(A) Ful feurer™

(B) HEA TeHITd

(C) f1= ferre™

(D) e H | g el
Ik — D

119 oer 3o == gigai # § 2

(A) =9 Wt w6 fag
(B) & 1 & fag
© & ferg

. ¢ | 18 Tl
N
" mrdfd §
(A) Sifaes @t 9
(B) ereRTEfTE Wl H
(C) vrpfaw @l 9§
(D) 3ol |41 9

Ans — A SR — A
121  Which of the wing pair is not 121 frreaferfem & | S-St wel T ¢ 2

correct ?

(A) Tony Abbott - Australia

(B) Ashraf Ghani - Afghanistan
(C) Sergio Mattarella - Fiji

(D) John key - Newzealand

Ans — C

(A) 2 afate - streferan
(B)  STYRE ST - STHII-ET
(C) T meXen - fwsit
(D) S & - =S

Sax — C



122

123

What is true about BRICS summit meet :

(i)

122

The first BRIC summit meet was
held on 2009

fagg fergy g™\aT & sx | 9l 4

g:
(i)  gem foren foray e 2009 § gam o

(i) The first BRIC summit meet was (i) 9 Toreh @R I e 9Ra § gam o
held in India

(i) The sixth BRICS summit meet was (itiy =3 o Rrer gwier wfosn o
held in Fortaleza AT A

(iv) The sixth BRIC summit meet was (iv) Dol foea Rrer e Jai 2014
held in July 2014 o gaT o

(v}  The sixth BRICS summit meet was (v) T34l TIreR g=ie &1 gumafae
presided over by Putin Rl

(vi) The fourth BRICS summit meet was (vi!: forer g e < Ao BT A
held in China

L 4

(A @), (i), (v) P ) (i), (v)

(B) (i), (iv), (vi) O ) (i), (iv), (vi)

(€ (i), (v), (vi) (©) () (v), (vi)

(D) (1), (i), (iv) (D) (i), (iid), (iv)

Ans — D Q Sk — D

L 4
A Government Bill h already 123 U% SR faeas 9 cliepgen 3 91| &
passed by Lok Sabh endmg in foan € oI % Touaw ¥ aftea §1 st =

Rajya Sabha.
Sabha is dissolv

Bill :
(A)
(B)
©
(D)

eanwhile Lok
n the Government

will lapse
may be passed by Rajya Sabha
will be sent to President

New Lok Sabha will consider

Ans — A

dArway faufea & S & 9@ 98 W
%IW:

I Bl S

TG TIRG T Gehedl ©
Ay 3 gr AT S
& @ 9 faem st

3R — A

(A)
(B)
(©

(D)



124  Which of the following pair of countries

won all their matches before Quarter final
round in the present cricket world cup ?

(A) India and Australia

(B) India and New Zealand

124 Tre=fafad § 9 fog Sw-ga gw fava &9

fophe § F9T BIEAA & g U WX A
S ?

(A) 9RG e Treferan
(B) WRA qM i

(C) South Africa and Australia (C) WISV THIHT aAl areeferan
(D) TTSY STHIHT T SIS

Sk — B

HUEHTG 1 YRMETeh TE HEawd € :

(D) South Africa and New Zealand
Ans — B

125 The Administrative Head of Chandigarh 155

is called :
(A) Lt Governor

(A)
(B) Chief Commissioner @ﬂ g
¢ Q ERURED
\ *
: (D)

(C) Administrator

(D) Deputy Commissioner

R
&
-

I SR
-C



o= ferdteres Udter-2015

126 In how many stages the elections were 126 16 &f @i @1 & ol 7 901 9 12195 2014
held in the 16" Lok Sabha from 7t April % SN TR =l § gAE HE g ?
to 12" May 2014 ?
(a) 07 (A) 07
(B) 08 (B) 08
(C) 09 (C) 09
D) 10 (D) 10

Ans — C Sav — C

127 Which organ is known as Adam’s o F " arew & e F w5
apple ? %
(A) Pharynx Q A) Wity
(B} Larynx O (B) @ffrg
(C) Trachea (Q) fF=
(D) Oesophagus R OQ (D) $HTRTE

Ans — B % Sar - B
128  Analloy of irog@kel is called : 128 e fag g =1 #ed &

(A) DBrass
{(B) Invar
(C) Bronze

{ID})  None of the above

Ans — B

(A) dra
(B) TR
(C) @
(D) =R H § #E wE

Jar — B



129

130

131

132

Fourteenth Finance commission has 129
increased the share of states in central
divisible pool

(A) from 28% to 38%

(B) frpm 32% to 42%

(C) fromi28% to 42%

(D} none,of the above

Ans — B

Which of the following is a mud 130
volcamo; ?

(A) Bdrrén island

{B) Narcondam island

(C)  Dgccan Trap

(D) Baratang island
Ans — D

Undet whirth Article of Constitution can

the Priesident dissolve the Lok Sabha ?

(A}  Arffticle 95

(B} Asticle 85 Q

C) Article 356 * O

(D)  RAaiticle 365 @
Ans — B

When was ll&st meeting of the 137
Constityent Assembly held ?

(A) w2 Lec. 1946

(B) 99 éc. 1946

(C) 94l july 1947

(D) 15| Adg. 1946
Ans — B

regd fast stmam gra e Fedtsias 7o §
TSl % YT i aGE T

(A) 28% H 38%
(B) 32% ¥ 42%
(©
(D)

28% ° 42%

Iak — B

e | e e serarngEt’ ¥ 7
(A) FH H
(B)

(@f@

‘ D
reat BfauE & fEy saawee F awnia
@ 9T Y HEd F 2
(A) wT=E 95
(B) &1sdE 85
(C) i T=7 356
(D) =TT 365

Sk — B

HiEGHF 941 %] Y97 T3 9 G g8 ol ?

02 fada 1946
09 fTHTL 1946
04 FEAE 1947
15 37T 1946

(A)
()
(©)

(D)

Sk — B



133 By which of the following names Shivaji's 133 F=feriaa o = oy 19 | fowmq #rHbmes

Council of Ministers is known ? 16 )

{A) Sapta - Shahane (A) 9 - gl

{B) Ashta - Pradhan (B) #HE -GN

{C) Nau - Ratna (C) -1

(12) Dash - Mantrin (D) =90 - HiE]
Ans — B Sk — B

134 What is correct about casting vote of 134 @i® A9 w1t & fies ma F fawm §

Speaker of Lok Sabha ? T D7

(i)  Itcanbeused in removal resolution @ 7 @ F TEFfd TR NI S9E
of President. @ HH 7 |

(iiy It can be used on Govt. Bill. . (ii)‘ g TN fa9gs W e fear =

\ Wl E

(iif) It can be used on No confidencg O i) ¥g favarE yEE [T osgAn fwa s
motion. HFd F |

(iv) Itcan be used in remova 61 (iv) 4 =T % v wEs T 3TN
of Judges. R O o S wEAar g

(v) It can be used j stitutional (v) @ diaste g fadem w® I
Amendme% o = T 21

(vi) Itcanbe u&&m Money Bill. (vi) a7 97 fasdas | wwEm fea s e

7l

(A) (), (iv), (v) : (A) () (iv). (v)

(B) (i), (iv), (v) (B) (i), (Gv), (v)

(©) (i), (iii), (vi) (C) (i), {iii), (vi)

(D) (i) (i) (vi) (D) (), (1), (vi)

Ans — C Ik — C



135 Which mountain pass in Himalaya
comngets Indian State of Sikkim with
Qhina ?

6LV

Shipkila Pass
. (B) Bumla Pass
(€) Uipulekh Pass
(D) Mathula Pass
Ans — D

136 Regaiding earth which statement is
incorrect 7

{AY Earth is in geoid shape,

(B) Polar diameter is greater than
equatorial diameter.

(C)  Difference in value of equatorial
and polar diameter is the cause of
earth’s oblate spheroid shape.

(D1 Earth is flatlened at the poles and
bulges at the equator.

Ans — B

137 Tenth Schedule added tg th
is related to : '

(A Special Pyivg tide State of

Mizoran\
(B) Pravision as to Disqualification on

thel ground of Defection

{C) Conditions related to the status of
Sikkim

(D) None of the above

Ans — B

@ion 137

135 feureEm § :F-91 ygi€t w64y (99) YRaE
Ty fafea it =it & e siga § 2

(A) Tergsian wa (ve)

(B) A A
(C) fogera I
(D) et oS
Ik — D
136 9%t % waw F 1A § 9 F0-7 99 W@
T2
(a) geh TasjiNgT 2
(B) WHSATE S AT
o (O =Y UF {aiy | 2a

\ % TN Y G FEHR AFE o
< Q 2
O y el Y O ETE a1 YT TSR

fEw g d

Sr — B

Higur § ST Tt gwdt s dafud 2
(A) Tosires o5 & ford faum wasm |
(B) = TG  SMHE T A W

¥ wEyR
(Cy fofers & fiufa 9 wafum o @

(D) 997 | & fost § 7

Sk — B



138  Lunar eclipse occur when : 138 HgUEY FA A E 7 e ¢

(A) The sun is between the earth and (A) 4, gt U SEm e o St 2
the moon.

(B) The earth is between the sun and (B) gl [qA TF FET & e A SIET 2 1
the moon.

{C)  The moon is between the sun and (C) =g, 'FEI ud et & wemw a7 W ¥
the earth.

(D) None of the above (D) 39U B H HE A7

Ans — B Ik — B
139 What is the meaning of core sector in 139 a1 ] e -
planning ? O
(A) Selective Infrastructure Industry ¢, (A) SIYRYT T2

*
(B} Agriculture O®) Ej\'ﬁl
TET

(C) Security (C)
(D) Iron and Steel Industry Q (D) iR gel geard &
IR — A

Ans — A . O

140 At which of thg f ifgYplaces in 140 aHwATg ® M=fatEd ¥ § frm wm wowfag
Tamil Nadu t} Brihadishwar qza"rwuﬁtfwa%?

temple is situated ?

(A) Tanjore (A) TR

(B) Kanchipuram (B) THIEIH

(C} Madura (C} wgU

(D) None of the above (D) 39y ¥ @ =g =

Ans — A IR — A



141

142

143

Who of the following was the leader of
the Rewvoltiof 1857 in Lucknow ?

(A) Begum Zeenat Mahal
(B] Begum [Hasrat Mahal
(€)

(D)

Begum Hazrat Mahal
l’SégUm Izzat Mahal
Ans — C

In whidh latitude Torrid zone falls ?

@

(A)  Located between 0° and 23% north

and south of the equator.

L1

1
(B] Lpcated between latitudes 23-2—

@

i
and 665 north and south of the

edquator.

{C) Lopcated between latitud to

907 north and sou

(I None of the a
Ans — A &

To which of the following ancient dynasty
Ashoky - the - Great belonged ?

(A}

(B)

()

(D) Shunga
Ans — C

quator.

Haryak
Shishunaga

Maulrya

)
\‘
OQ 66% I o A

143

141 frefafea © % 371857 F fagie #1 T@Ts
H Far eft ?

(A) =T SE T

(B) =ITH BHLE HEA

(C) &7 T=d WEd

(D) =7TH g T

Sk — C

147 g e | ge sy g g7

(A) YA @] | I oug gfarer #

. {BquiﬁTﬁmﬁ'ﬁéﬂﬂTﬁ 23-% i

(C) wmed i@ ® @ ud gfwer #
Iﬁﬁ% T O0° 2 F A

(D) 3w § & F1E T2

Sak — A

eI T Teitaiaa o | fE =t e
W HE T w7

(A) TEH
(B) e
(C) =
(D) ¥

Saxk — C



144  Against which of the following Act 144 frefefEa ¥ 4 fva = 1 5"[ Ffﬂj*l 0 R

Mahatma Gandhi launched his first Ml 7 wra ¥ e "W s s
nation-wide satyagraha in India ? AT Y
(A) Pitt's India Act (A) 192 1 5189 FA
(B) Rowlatt Act (B) e g
(C) Regulating Act () @ wmrE
(O} WVernacular Press Act {1 EI?'T'{-EE[I PE I
Ans — B IR — B

145 Why does land heats and cools more 145 =i qfH UMl &l
quickly than water ? 351‘:|'{ et I

{A)  The specific heat of land is high

{B) The specific heat of water is high qsﬁ w1 fafere e st dfr T
{(C) The specific heat of land is low O g = it o e g 2
(D) The specific heat of water is low (D) wHT =T Tafere s = gE 3

Ans — C Q IRk — C

146 “Open Market UPerah‘@ rtof 146 'Tel A=R i A ferfatae 4 4 ey

which of the following g T AT E7

(A) Tncome Pol& (A) = i

(B) Monetary Policy (B) Wiz ifq
{C) Fiscal Policy (C)  IrsrRrETg i
(D) Labour Palicy (1) @ Hifa

Ans — B IR — B



147  Which amongst the following officials 147  TT=ifeiea o & FIH-91 WiiHwr 98 = fF
can parti¢ipate in the proceedings of any ol WaA w1 FEAE H 97 A R § 7
House of thé Parliament ?

(A) Defence Secretary of India (A) T o1 R A=

(B)  Attorney General of India (B) WG &1 WEEEEE

(C)  Chief Justice of India (C) T4 =1 &2 =T

(D) None of the above (D) =9dad 9 9 %1 Tl
Ans — B Ik — B

148 Which otithe following instrument isused  4g 701 ® & 9 99 &1 3Em e =t e’

to measure “wind direction” ? T T % fae fwa S 7
(A)  Altimeter (A)  STIHTE
(B) Barometer (B) T
(C) Wind Vane (C)
(D)  Angmpmeter { 1
Ans — C ) —-€
149 Which sector have maximum (1d ] TSI 3 H w4 F s
contribution in National Income e 27
India 7
(A) Primary sector (A) wWgTHS &
(B) Sedondary sector | OQ (B Taara® &=

(C)  Testiary sector (C) gdid® &=

(D} Hqually trag e sectors (D) ==l = =R
Ans — C \ Sar — C

150  In whithlstate there 1s Maximum Literacy 150 Afzenatt #1 @aal o1 wad Afys fam =

Rate of wornen ? FE7

(A) TamillNadu (A) afE TIg
(B) Kerala (B) =@

(C) Mizoram () Ta=ra
(D) Wesl Bengal (D) s s

Ans — B Ik — B



151

Which of the following is the site of

151

protein synthesis in a cell ?

(A)
(B)
(©)
(D)

Ans — B

152 The glassware used in kitchen are made

153 In which country, First Industri 0;

154

Mitochondria
Ribosome
Endoplasmic reticulam

Golgi body

S

152

of Pyrex glass because it has

coefficient of expansion.

(A)
(B)
(©)
(D)

Ans — B

High
Low
Medium

None of the above M

Revolution had taken place ?

(A) France Q
(B) Germany . O
(C) America

(D) England @

Ans — D \'

What is the base of determination of 154
dearness allowance in India ?

(A) Consumer Price Index

(B) National Income

(C) Per capita Income

(D) Life Status

Ans — A

751 9 4 fepwf Wit Fydtom g 22

(A) WA

(B) UEerm

(C) u=Erenfmes Mgy

(D) Tt =T
- B

fF=r § vgm w9 & w69 oEley e @
I1 gd ¥ ;e 7 faean e
_ B E

(A) &

(B)

(

\(m St | | i TE
Y B

O

3% st iy wayem e ew i g2

(A)  wiE

(B) i

(C) sTHfTE
(D) swfE
Sk — D

IHd | FHAE F TRy F o
YR F91 87

(A) SUHIET Iod YaHiw

(B) gy s

(C) it s
(D) =ied Y

Ik — A



155  Matdh thé following places with their ore
minerals 1

156

{a) Rawghat

by Khetri

(c) Zawar

{d) Balaghat

(a)
Aa) @
B) )
© (i)
(D) (i)
Ans — B

At which of the following places a trial
was held against the three generals of
Indian National Army - Sehgal,
Nawaz and Dhillon ?

(A) Viceroy's Lodge, Simla

{B) Victoria Memorial, Ca®:

(€) Red Fort, Delhi

(D) None of ﬁ@

Ans — C

(b)
(i)
()

(i)
(1)

(i)
(1)
(i)
(iv)
(<)
(iii)
(i)
(iv)
(iif)

=

Copper ore
Lead-Zinc ore
Manganese ore
Iron ore

(d)

(iv)

(i)

)

()

2

Shah

e%

Srfefas wrl &t 9% @i RS9 &
mﬁamﬁ:

(2) TEEE (i)

(b) @

{c) =R

(i}
(i)

(d) AR (iv)

(2)
(A) )
B) (i)
(© (i)
D) ()

YR —,

(b) (<)
(i) (i)
(1 ()
(i) (iv)

&

qrE qI=H

G- AT

fez wisl & a4 A5fagi-gemE,
mwtmﬁmﬁa
T G {EHSH e 47

(A) arEE @, e
() faaeifen #eiftae, Fera

(C) = fwen, Teeeit

(D) ¥ A =

Saxk — C



157

158

159

Economic Planning is a subject of :
(A)  Union List

(B)  State List

(C)  Concurrent List

(D) Sperial List

Ans — C

JAM Trinity is being talked about in the
context of :

(A) Regulation of Market
(B)  Transfer of subsidies
Financial Literacy
None of the above

Ans — B

ive
State

will

If a bill is passed by State

Council but not pa%ged K
Legislative A:)'smn@hat
happen ? Q

{A) The bill w&(imally rejected

{B)  Four months time will be given to
State Legislative Assembly

(C)  Joint session will be called for this

purpose
(D}  The Governor will interfere

Ans — A

157

L 4

fefaR farem o &
(A) T
(B) = HE=id
GEEGHE il
fereme = o

Saxk — C

158 = fitet i ==l o g 6 & )

(A) T o
M (Hafaet) & gwrm o

V} fafag e o

O D) =TEE ¥ A 0 6

Sak — B

159 =i % fadaF e fasm ofts g ofm

T U fasm W g oifva Ha faan s
R 2

() Tat® sy =0 9 faeg 8 smom

(B} T=E YR 99 OF €H WE %1 95

Feam wmmoem

(C) 7o v T Hygar sfuie e smom

(D) TAYE FEAAT FHIm

IR — A



